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Equipment:

Five coffee filters, triple beam balance, motion detector and accompanying calculator, level, support poles, and laptop

Procedure:

We found the mass of the coffee filters using the triple beam balance.  Having established that the motion detector was set up normal to the ground, we proceded to drop the coffee filters beneath the detector.  The calculator was used to record the data and send our findings to the laptop.

Conclusion:

Dragforce increases relative to mass; however, there is a point at which the drag force equals the mass, creating a net force of zero and producing constant velocity.  Terminal velocity was reached very quickly with the coffee filters due to their low masses and high air resistance.

